Bid Abstract

Riverside County Flood Control & Water Conservation District

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: MENIFEE - HAWTHORNE AVENUE STORM DRAIN, STAGE 1

Project Number:4-0-0163-01Bid Open Date:04/15/2010

ENGINEER'S ESTIMATE

GARCIA JUAREZ CONSTRUCTION, INC.

KIP, INCORPORATED

 Item No. & Description 1 MOBILIZATION 2 WATER CONTROL 3 TRAFFIC CONTROL 4 CLEARING AND MISCELLANEOUS WORK 5 EXCAVATION 	<i>Unit</i>	<i>Quantity</i>	Unit Bid	<i>Total Bid</i>	Unit Bid	<i>Total Bid</i>	Unit Bid	<i>Total Bid</i>
	L.S.	1	\$80,000.00	\$80,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00
	L.S.	1	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
	L.S.	1	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$2,000.00	\$2,000.00
	L.S.	1	\$15,000.00	\$15,000.00	\$22,000.00	\$22,000.00	\$20,000.00	\$20,000.00
	C.Y.	19,387	\$15.00	\$290,805.00	\$5.15	\$99,843.05	\$3.00	\$58,161.00
 6 ROCK EXCAVATION 7 ASPHALT CONCRETE EXCAVATION 8 BACKFILL 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) 10 FILTER MATERIAL 	C.Y. S.F. C.Y. C.Y. C.Y.	700 780 8,057 3,586 500	\$200.00 \$0.50 \$10.00 \$50.00 \$50.00	\$140,000.00 \$390.00 \$80,570.00 \$179,300.00 \$25,000.00	\$70.00 \$4.50 \$5.00 \$59.00 \$53.00	\$49,000.00 \$3,510.00 \$40,285.00 \$211,574.00 \$26,500.00	\$50.00 \$1.00 \$5.00 \$5.00 \$28.00	\$35,000.00 \$780.00 \$40,285.00 \$17,930.00 \$14,000.00
 11 TRENCH SAFETY SYSTEM 12 CLASS "A" CONCRETE 13 CLASS "B" CONCRETE, MISCELLANEOUS 14 MANHOLE NO. 2 15 MANHOLE NO. 4 	L.S.	1	\$50,000.00	\$50,000.00	\$8,000.00	\$8,000.00	\$120,000.00	\$120,000.00
	C.Y.	66	\$700.00	\$46,200.00	\$880.00	\$58,080.00	\$800.00	\$52,800.00
	C.Y.	8	\$500.00	\$4,000.00	\$1,050.00	\$8,400.00	\$800.00	\$6,400.00
	EACH	8	\$6,000.00	\$48,000.00	\$3,800.00	\$30,400.00	\$6,000.00	\$48,000.00
	EACH	2	\$10,000.00	\$20,000.00	\$5,400.00	\$10,800.00	\$7,000.00	\$14,000.00
 78" RCP, 1500D, WITH EXTRA COVER 78" RCP, 1500D 72" RCP, 1500D 66" RCP, 1500D 48" RCP, 1500D 	L.F.	504	\$257.00	\$129,528.00	\$195.00	\$98,280.00	\$450.00	\$226,800.00
	L.F.	2,088	\$237.00	\$494,856.00	\$195.00	\$407,160.00	\$275.00	\$574,200.00
	L.F.	872	\$228.00	\$198,816.00	\$170.00	\$148,240.00	\$250.00	\$218,000.00
	L.F.	323	\$174.00	\$56,202.00	\$160.00	\$51,680.00	\$180.00	\$58,140.00
	L.F.	24	\$173.00	\$4,152.00	\$130.00	\$3,120.00	\$160.00	\$3,840.00
 21 36" RCP, 1500D 22 24" RCP, CLASS IV 23 18" RCP, CLASS IV 24 AGGREGATE BASE, CLASS 2 25 ASPHALT CONCRETE, TYPE "B" 	L.F.	4	\$110.00	\$440.00	\$100.00	\$400.00	\$200.00	\$800.00
	L.F.	421	\$90.00	\$37,890.00	\$59.00	\$24,839.00	\$120.00	\$50,520.00
	L.F.	86	\$80.00	\$6,880.00	\$56.00	\$4,816.00	\$115.00	\$9,890.00
	C.Y.	180	\$40.00	\$7,200.00	\$85.00	\$15,300.00	\$32.00	\$5,760.00
	TONS	390	\$100.00	\$39,000.00	\$123.00	\$47,970.00	\$85.00	\$33,150.00
 26 TEMPORARY RESURFACING 27 6-FOOT CHAIN LINK FENCE 28 TEMPORARY FENCING 29 3-FOOT CABLE RAILING 30 14-FOOT DOUBLE DRIVE GATE 	TONS	121	\$100.00	\$12,100.00	\$150.00	\$18,150.00	\$100.00	\$12,100.00
	L.F.	740	\$16.00	\$11,840.00	\$22.00	\$16,280.00	\$45.00	\$33,300.00
	L.F.	285	\$10.00	\$2,850.00	\$7.00	\$1,995.00	\$1.00	\$285.00
	L.F.	70	\$10.00	\$700.00	\$40.00	\$2,800.00	\$15.00	\$1,050.00
	EACH	1	\$2,000.00	\$2,000.00	\$1,450.00	\$1,450.00	\$2,000.00	\$2,000.00



Project Number: 4-0-0163-01

Page 2 of 12

<i>Bid Open Date:</i> 04/15/2010			ENGINEER'S ESTIMATE KIP, IN			RPORATED	GARCIA JUAREZ CONSTRUCTION, INC.		
tem No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
31 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$1.50	\$17,607.00	\$1.00	\$11,738.00	\$2.00	\$23,476.00	
32 OBJECT MARKERS	EACH	24	\$60.00	\$1,440.00	\$90.00	\$2,160.00	\$100.00	\$2,400.00	
33 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$50.00	\$26,700.00	\$60.00	\$32,040.00	\$75.00	\$40,050.00	
34 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$50.00	\$6,850.00	\$60.00	\$8,220.00	\$28.00	\$3,836.00	
35 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$10.00	\$1,780.00	\$4.00	\$712.00	\$5.00	\$890.00	
36 DUST ABATEMENT	L.S.	1	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00	\$2,000.00	\$2,000.00	
37 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$9,000.00	\$9,000.00	\$2,000.00	\$2,000.00	
38 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$1,000.00	\$1,000.00	
39 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$60.00	\$3,720.00	\$60.00	\$3,720.00	\$100.00	\$6,200.00	
		•				¢1 540 0/2 05		¢1 771 042 00	

\$2,091,816.00

\$1,548,962.05

\$1,771,043.00

Project Number: 4-0-0163-01 *Bid Open Date:* 04/15/2010

Total Bid Item No. & Description Unit **Ouantity** Unit Bid Total Bid Unit Bid Total Bid Unit Bid 1 MOBILIZATION \$120,000.00 \$88,000.00 L.S. \$120,000.00 \$88,000.00 \$1.00 \$1.00 L.S. \$33,400.00 \$33,400.00 \$4,000.00 \$4,000.00 \$37,000.00 \$37,000.00 2 WATER CONTROL 1 L.S. \$57,000.00 \$57,000.00 \$9,000.00 \$9,000.00 \$13,500.00 **3** TRAFFIC CONTROL 1 \$13,500.00 L.S. \$40,000.00 \$40,000.00 \$6,584.00 \$6,584.00 \$9,000.00 \$9,000.00 4 CLEARING AND MISCELLANEOUS WORK \$213,257.00 5 EXCAVATION C.Y. 19,387 \$9.00 \$174,483.00 \$5.00 \$96,935.00 \$11.00 C.Y. 700 \$89.20 \$62,440.00 \$112.00 \$78,400.00 \$200.00 \$140,000.00 6 ROCK EXCAVATION S.F. \$2.00 780 \$2.75 \$2,145.00 \$1,560.00 \$4.00 \$3,120.00 7 ASPHALT CONCRETE EXCAVATION 8,057 C.Y. \$7.00 \$56.399.00 \$10.00 \$80,570.00 **8** BACKFILL \$13.00 \$104,741.00 C.Y. \$58.00 9 CONTROLLED LOW STRENGTH 3.586 \$60.00 \$215,160.00 \$207,988.00 \$75.00 \$268,950.00 MATERIAL (CLSM) C.Y. 500 \$47.25 \$34.00 \$22,500.00 **10 FILTER MATERIAL** \$23,625.00 \$17,000.00 \$45.00 L.S. \$45,000.00 \$45,000.00 \$22,000.00 \$22,000.00 11 TRENCH SAFETY SYSTEM 1 \$12,966.00 \$12,966.00 12 CLASS "A" CONCRETE C.Y. 66 \$947.00 \$62,502.00 \$850.00 \$56,100.00 \$900.00 \$59,400.00 13 CLASS "B" CONCRETE, MISCELLANEOUS C.Y. 8 \$1,400.00 \$11,200.00 \$780.00 \$6,240.00 \$900.00 \$7,200.00 14 MANHOLE NO. 2 EACH 8 \$5,500.00 \$44,000.00 \$7,600.00 \$60,800.00 \$5,800.00 \$46,400.00 15 MANHOLE NO. 4 EACH 2 \$7,000.00 \$14,000.00 \$11,300.00 \$22,600.00 \$7,500.00 \$15,000.00 L.F. 504 \$179.00 \$129,024.00 \$100,800.00 \$90,216.00 \$256.00 \$200.00 16 78" RCP, 1500D, WITH EXTRA COVER \$376,884.00 17 78" RCP, 1500D L.F. 2,088 \$180.50 \$252.00 \$526.176.00 \$200.00 \$417,600.00 18 72" RCP, 1500D \$170.00 \$234.00 \$139,520.00 L.F. 872 \$148,240.00 \$204,048.00 \$160.00 19 66" RCP, 1500D 323 \$215.00 L.F. \$147.00 \$47,481.00 \$69,445.00 \$140.00 \$45,220.00 20 48" RCP, 1500D L.F. 24 \$158.00 \$3,792.00 \$170.00 \$4,080.00 \$100.00 \$2,400.00 L.F. 21 36" RCP, 1500D 4 \$148.00 \$592.00 \$171.00 \$684.00 \$100.00 \$400.00 L.F. 421 \$34.00 \$14,314.00 \$71.00 \$29,891.00 \$28.00 \$11,788.00 22 24" RCP, CLASS IV \$4,988.00 23 18" RCP, CLASS IV L.F. \$58.00 86 \$113.00 \$9,718.00 \$20.00 \$1,720.00 C.Y. 180 \$47.50 \$8,550.00 \$30.00 \$5,400.00 \$62.00 \$11,160.00 24 AGGREGATE BASE, CLASS 2 25 ASPHALT CONCRETE, TYPE "B" \$38,220.00 \$46,800.00 \$66,300.00 TONS 390 \$98.00 \$120.00 \$170.00 26 TEMPORARY RESURFACING TONS 121 \$114.00 \$13,794.00 \$85.00 \$10,285.00 \$100.00 \$12,100.00 740 \$17.00 \$12,580.00 \$15.00 27 6-FOOT CHAIN LINK FENCE L.F. \$11,100.00 \$25.00 \$18,500.00 L.F. 285 \$6.00 \$1,710.00 \$7.00 \$1,995.00 \$8.00 **28 TEMPORARY FENCING** \$2,280.00 29 3-FOOT CABLE RAILING L.F. 70 \$40.00 \$2,800.00 \$25.00 \$1,750.00 \$40.00 \$2,800.00 EACH \$3,500.00 \$3,500.00 \$1,500.00 \$1,500.00 \$1,000.00 \$1,000.00 **30 14-FOOT DOUBLE DRIVE GATE**

BERT W. SALAS, INC.

WEKA, INC.

Page 3 of 12

KEC ENGINEERING

Project Number: 4-0-0163-01								Page 4 of 12
<i>Bid Open Date:</i> 04/15/2010			BERT W. SA	LAS, INC.	WEKA	A, INC.	KEC EN	GINEERING
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
31 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$1.50	\$17,607.00	\$1.25	\$14,672.50	\$1.00	\$11,738.00
32 OBJECT MARKERS	EACH	24	\$75.00	\$1,800.00	\$65.00	\$1,560.00	\$75.00	\$1,800.00
33 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$50.00	\$26,700.00	\$55.00	\$29,370.00	\$50.00	\$26,700.00
34 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$50.00	\$6,850.00	\$34.00	\$4,658.00	\$70.00	\$9,590.00
35 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$4.00	\$712.00	\$1.50	\$267.00	\$3.00	\$534.00
36 DUST ABATEMENT	L.S.	1	\$60,500.00	\$60,500.00	\$4,000.00	\$4,000.00	\$15,000.00	\$15,000.00
37 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$3,953.50	\$3,953.50	\$15,000.00	\$15,000.00
38 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$3,000.00	\$3,000.00	\$1,500.00	\$1,500.00	\$2,400.00	\$2,400.00
39 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$50.00	\$3,100.00	\$65.00	\$4,030.00	\$40.00	\$2,480.00
								£1 000 000 00

\$1,864,284.00

\$1,864,650.00

\$1,880,899.00

Project Number: 4-0-0163-01 *Bid Open Date:* 04/15/2010

<i>Bid Open Date:</i> 04/15/2010			TRAUT CONSTRU			STRUCTION, IC.		EZ BROTHERS ERING, INC.
 Item No. & Description 1 MOBILIZATION 2 WATER CONTROL 3 TRAFFIC CONTROL 4 CLEARING AND MISCELLANEOUS WORK 5 EXCAVATION 	<i>Unit</i> L.S. L.S. L.S. L.S. C.Y.	<i>Quantity</i> 1 1 1 1 1 19,387	Unit Bid \$90,000.00 \$10,000.00 \$5,000.00 \$10,000.00 \$3.00	<i>Total Bid</i> \$90,000.00 \$10,000.00 \$5,000.00 \$10,000.00 \$58,161.00	<i>Unit Bid</i> \$176,000.00 \$5,000.00 \$5,000.00 \$15,000.00 \$9.00	<i>Total Bid</i> \$176,000.00 \$5,000.00 \$5,000.00 \$15,000.00 \$174,483.00	Unit Bid \$50,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$8.00	<i>Total Bid</i> \$50,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$155,096.00
 6 ROCK EXCAVATION 7 ASPHALT CONCRETE EXCAVATION 8 BACKFILL 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) 10 FILTER MATERIAL 	C.Y. S.F. C.Y. C.Y. C.Y.	700 780 8,057 3,586 500	\$75.00 \$10.00 \$2.00 \$65.00 \$22.00	\$52,500.00 \$7,800.00 \$16,114.00 \$233,090.00 \$11,000.00	\$250.00 \$2.20 \$13.00 \$62.00 \$35.00	\$175,000.00 \$1,716.00 \$104,741.00 \$222,332.00 \$17,500.00	\$140.00 \$5.00 \$12.00 \$50.00 \$30.00	\$98,000.00 \$3,900.00 \$96,684.00 \$179,300.00 \$15,000.00
 11 TRENCH SAFETY SYSTEM 12 CLASS "A" CONCRETE 13 CLASS "B" CONCRETE, MISCELLANEOUS 14 MANHOLE NO. 2 15 MANHOLE NO. 4 	L.S.	1	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00
	C.Y.	66	\$1,000.00	\$66,000.00	\$1,378.00	\$90,948.00	\$1,150.00	\$75,900.00
	C.Y.	8	\$1,000.00	\$8,000.00	\$880.00	\$7,040.00	\$1,050.00	\$8,400.00
	EACH	8	\$6,000.00	\$48,000.00	\$7,500.00	\$60,000.00	\$7,500.00	\$60,000.00
	EACH	2	\$7,500.00	\$15,000.00	\$7,400.00	\$14,800.00	\$8,500.00	\$17,000.00
 16 78" RCP, 1500D, WITH EXTRA COVER 17 78" RCP, 1500D 18 72" RCP, 1500D 19 66" RCP, 1500D 20 48" RCP, 1500D 	L.F.	504	\$300.00	\$151,200.00	\$207.00	\$104,328.00	\$250.00	\$126,000.00
	L.F.	2,088	\$300.00	\$626,400.00	\$175.00	\$365,400.00	\$240.00	\$501,120.00
	L.F.	872	\$200.00	\$174,400.00	\$167.00	\$145,624.00	\$230.00	\$200,560.00
	L.F.	323	\$200.00	\$64,600.00	\$150.00	\$48,450.00	\$210.00	\$67,830.00
	L.F.	24	\$200.00	\$4,800.00	\$220.00	\$5,280.00	\$150.00	\$3,600.00
 21 36" RCP, 1500D 22 24" RCP, CLASS IV 23 18" RCP, CLASS IV 24 AGGREGATE BASE, CLASS 2 25 ASPHALT CONCRETE, TYPE "B" 	L.F.	4	\$100.00	\$400.00	\$478.00	\$1,912.00	\$100.00	\$400.00
	L.F.	421	\$100.00	\$42,100.00	\$61.00	\$25,681.00	\$75.00	\$31,575.00
	L.F.	86	\$100.00	\$8,600.00	\$158.00	\$13,588.00	\$60.00	\$5,160.00
	C.Y.	180	\$30.00	\$5,400.00	\$80.00	\$14,400.00	\$50.00	\$9,000.00
	TONS	390	\$80.00	\$31,200.00	\$87.00	\$33,930.00	\$120.00	\$46,800.00
 26 TEMPORARY RESURFACING 27 6-FOOT CHAIN LINK FENCE 28 TEMPORARY FENCING 29 3-FOOT CABLE RAILING 30 14-FOOT DOUBLE DRIVE GATE 	TONS	121	\$100.00	\$12,100.00	\$89.00	\$10,769.00	\$70.00	\$8,470.00
	L.F.	740	\$20.00	\$14,800.00	\$19.80	\$14,652.00	\$20.00	\$14,800.00
	L.F.	285	\$10.00	\$2,850.00	\$7.40	\$2,109.00	\$10.00	\$2,850.00
	L.F.	70	\$25.00	\$1,750.00	\$26.40	\$1,848.00	\$30.00	\$2,100.00
	EACH	1	\$1,500.00	\$1,500.00	\$1,540.00	\$1,540.00	\$1,800.00	\$1,800.00

Page 5 of 12

<i>Bid Open Date:</i> 04/15/2010			TRAUTV CONSTRU		SUKUT CONS IN	,		Z BROTHERS ERING, INC.	
n No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid	
1 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$1.50	\$17,607.00	\$1.50	\$17,607.00	\$1.40	\$16,433.20	
2 OBJECT MARKERS	EACH	24	\$100.00	\$2,400.00	\$137.50	\$3,300.00	\$60.00	\$1,440.00	
3 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$40.00	\$21,360.00	\$53.00	\$28,302.00	\$65.00	\$34,710.00	
4 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$40.00	\$5,480.00	\$52.00	\$7,124.00	\$30.00	\$4,110.00	
5 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$50.00	\$8,900.00	\$14.00	\$2,492.00	\$10.00	\$1,780.00	
6 DUST ABATEMENT	L.S.	1	\$5,000.00	\$5,000.00	\$550.00	\$550.00	\$12,000.00	\$12,000.00	
7 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	
8 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$5,000.00	\$5,000.00	\$550.00	\$550.00	\$10,000.00	\$10,000.00	
9 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$70.00	\$4,340.00	\$59.00	\$3,658.00	\$40.00	\$2,480.00	

\$1,897,852.00

\$1,946,654.00

\$1,949,298.20

Page 6 of 12

Project Number: 4-0-0163-01 *Bid Open Date:* 04/15/2010

<i>Bid Open Date:</i> 04/15/2010			RIVER CONSTR		BELCZAK	AND SONS		COLORADO ERING, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$115,000.00	\$115,000.00	\$60,000.00	\$60,000.00	\$20,504.00	\$20,504.00
2 WATER CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$24,064.00	\$24,064.00
3 TRAFFIC CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00	\$50,958.00	\$50,958.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$64,000.00	\$64,000.00	\$20,000.00	\$20,000.00	\$42,297.00	\$42,297.00
5 EXCAVATION	C.Y.	19,387	\$2.50	\$48,467.50	\$10.00	\$193,870.00	\$17.00	\$329,579.00
6 ROCK EXCAVATION	C.Y.	700	\$215.00	\$150,500.00	\$75.00	\$52,500.00	\$90.00	\$63,000.00
7 ASPHALT CONCRETE EXCAVATION	S.F.	780	\$1.25	\$975.00	\$0.50	\$390.00	\$19.00	\$14,820.00
8 BACKFILL	C.Y.	8,057	\$1.00	\$8,057.00	\$12.00	\$96,684.00	\$8.00	\$64,456.00
9 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	3,586	\$82.00	\$294,052.00	\$70.00	\$251,020.00	\$61.00	\$218,746.00
10 FILTER MATERIAL	C.Y.	500	\$23.50	\$11,750.00	\$60.00	\$30,000.00	\$24.00	\$12,000.00
11 TRENCH SAFETY SYSTEM	L.S.	1	\$15,000.00	\$15,000.00	\$237,000.00	\$237,000.00	\$104,914.00	\$104,914.00
12 CLASS "A" CONCRETE	C.Y.	66	\$965.00	\$63,690.00	\$900.00	\$59,400.00	\$1,119.00	\$73,854.00
13 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	8	\$832.00	\$6,656.00	\$400.00	\$3,200.00	\$344.00	\$2,752.00
14 MANHOLE NO. 2	EACH	8	\$7,500.00	\$60,000.00	\$5,000.00	\$40,000.00	\$4,573.00	\$36,584.00
15 MANHOLE NO. 4	EACH	2	\$12,000.00	\$24,000.00	\$7,000.00	\$14,000.00	\$5,719.00	\$11,438.00
16 78" RCP, 1500D, WITH EXTRA COVER	L.F.	504	\$219.00	\$110,376.00	\$225.00	\$113,400.00	\$230.00	\$115,920.00
17 78" RCP, 1500D	L.F.	2,088	\$224.00	\$467,712.00	\$190.00	\$396,720.00	\$230.00	\$480,240.00
18 72" RCP, 1500D	L.F.	872	\$196.50	\$171,348.00	\$190.00	\$165,680.00	\$224.00	\$195,328.00
19 66" RCP, 1500D	L.F.	323	\$172.00	\$55,556.00	\$170.00	\$54,910.00	\$196.00	\$63,308.00
20 48" RCP, 1500D	L.F.	24	\$185.50	\$4,452.00	\$135.00	\$3,240.00	\$123.00	\$2,952.00
21 36" RCP, 1500D	L.F.	4	\$388.00	\$1,552.00	\$150.00	\$600.00	\$101.00	\$404.00
22 24" RCP, CLASS IV	L.F.	421	\$67.00	\$28,207.00	\$82.00	\$34,522.00	\$58.00	\$24,418.00
23 18" RCP, CLASS IV	L.F.	86	\$198.00	\$17,028.00	\$75.00	\$6,450.00	\$50.00	\$4,300.00
24 AGGREGATE BASE, CLASS 2	C.Y.	180	\$90.00	\$16,200.00	\$60.00	\$10,800.00	\$59.00	\$10,620.00
25 ASPHALT CONCRETE, TYPE "B"	TONS	390	\$103.00	\$40,170.00	\$75.00	\$29,250.00	\$141.00	\$54,990.00
26 TEMPORARY RESURFACING	TONS	121	\$94.00	\$11,374.00	\$75.00	\$9,075.00	\$119.00	\$14,399.00
27 6-FOOT CHAIN LINK FENCE	L.F.	740	\$19.00	\$14,060.00	\$21.00	\$15,540.00	\$20.00	\$14,800.00
28 TEMPORARY FENCING	L.F.	285	\$7.00	\$1,995.00	\$8.00	\$2,280.00	\$7.00	\$1,995.00
29 3-FOOT CABLE RAILING	L.F.	70	\$25.00	\$1,750.00	\$24.00	\$1,680.00	\$23.00	\$1,610.00
30 14-FOOT DOUBLE DRIVE GATE	EACH	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,188.00	\$2,188.00
		i						

Page 7 of 12

Project Number: 4-0-0163-01 Bid Open Date: 04/15/2010								Page 8 of 12
<i>Du Open Dule.</i> 04/15/2010			RIVERS CONSTRU		BELCZAK	AND SONS	ALCON COLORADO ENGINEERING, INC.	
em No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
31 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$1.50	\$17,607.00	\$1.25	\$14,672.50	\$1.00	\$11,738.00
32 OBJECT MARKERS	EACH	24	\$65.00	\$1,560.00	\$100.00	\$2,400.00	\$140.00	\$3,360.00
33 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$51.00	\$27,234.00	\$50.00	\$26,700.00	\$60.00	\$32,040.00
34 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$77.00	\$10,549.00	\$45.00	\$6,165.00	\$47.00	\$6,439.00
35 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$8.00	\$1,424.00	\$5.00	\$890.00	\$10.00	\$1,780.00
36 DUST ABATEMENT	L.S.	1	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$11,118.00	\$11,118.00
37 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$21,000.00	\$21,000.00	\$12,000.00	\$12,000.00	\$9,563.00	\$9,563.00
38 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$2,500.00	\$2,500.00	\$7,500.00	\$7,500.00	\$21,606.00	\$21,606.00
39 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$93.00	\$5,766.00	\$75.00	\$4,650.00	\$43.00	\$2,666.00
						63 030 (00 50		03 1 <i>57 7 4</i> 0 00

\$1,968,067.50

\$2,028,688.50

\$2,157,748.00

Page 8 of 12

Project Number: 4-0-0163-01 *Bid Open Date:* 04/15/2010

<i>Bid Open Date:</i> 04/15/2010			CASS CONST IN			EQUIPMENT PANY	SONS, INC.	TUKOVICH & / VIDMAR, INC.
 Item No. & Description 1 MOBILIZATION 2 WATER CONTROL 3 TRAFFIC CONTROL 4 CLEARING AND MISCELLANEOUS WORK 5 EXCAVATION 	<i>Unit</i> L.S. L.S. L.S. L.S. C.Y.	<i>Quantity</i> 1 1 1 1 1 19,387	<i>Unit Bid</i> \$52,000.00 \$14,000.00 \$17,000.00 \$29,000.00 \$7.25	<i>Total Bid</i> \$52,000.00 \$14,000.00 \$17,000.00 \$29,000.00 \$140,555.75	Unit Bid \$20,000.00 \$2,000.00 \$20,000.00 \$20,000.00 \$9.00	<i>Total Bid</i> \$20,000.00 \$2,000.00 \$20,000.00 \$20,000.00 \$174,483.00	Unit Bid \$125,000.00 \$10,000.00 \$5,000.00 \$10,000.00 \$10.00	A JV _{Total Bid} \$125,000.00 \$10,000.00 \$5,000.00 \$10,000.00 \$193,870.00
 6 ROCK EXCAVATION 7 ASPHALT CONCRETE EXCAVATION 8 BACKFILL 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) 10 FILTER MATERIAL 	C.Y. S.F. C.Y. C.Y. C.Y.	700 780 8,057 3,586 500	\$317.00 \$20.00 \$2.50 \$53.00 \$42.00	\$221,900.00 \$15,600.00 \$20,142.50 \$190,058.00 \$21,000.00	\$315.00 \$16.00 \$10.00 \$58.00 \$14.00	\$220,500.00 \$12,480.00 \$80,570.00 \$207,988.00 \$7,000.00	\$50.00 \$5.00 \$10.00 \$93.00 \$90.00	\$35,000.00 \$3,900.00 \$80,570.00 \$333,498.00 \$45,000.00
 11 TRENCH SAFETY SYSTEM 12 CLASS "A" CONCRETE 13 CLASS "B" CONCRETE, MISCELLANEOUS 14 MANHOLE NO. 2 15 MANHOLE NO. 4 	L.S.	1	\$23,000.00	\$23,000.00	\$41,000.00	\$41,000.00	\$50,000.00	\$50,000.00
	C.Y.	66	\$928.00	\$61,248.00	\$1,030.00	\$67,980.00	\$1,100.00	\$72,600.00
	C.Y.	8	\$1,800.00	\$14,400.00	\$950.00	\$7,600.00	\$1,500.00	\$12,000.00
	EACH	8	\$6,900.00	\$55,200.00	\$6,000.00	\$48,000.00	\$6,500.00	\$52,000.00
	EACH	2	\$8,100.00	\$16,200.00	\$7,800.00	\$15,600.00	\$8,000.00	\$16,000.00
 16 78" RCP, 1500D, WITH EXTRA COVER 17 78" RCP, 1500D 18 72" RCP, 1500D 19 66" RCP, 1500D 20 48" RCP, 1500D 	L.F.	504	\$351.00	\$176,904.00	\$313.00	\$157,752.00	\$266.00	\$134,064.00
	L.F.	2,088	\$318.00	\$663,984.00	\$313.00	\$653,544.00	\$266.00	\$555,408.00
	L.F.	872	\$261.00	\$227,592.00	\$259.00	\$225,848.00	\$262.00	\$228,464.00
	L.F.	323	\$255.00	\$82,365.00	\$256.00	\$82,688.00	\$241.00	\$77,843.00
	L.F.	24	\$186.00	\$4,464.00	\$490.00	\$11,760.00	\$192.00	\$4,608.00
 21 36" RCP, 1500D 22 24" RCP, CLASS IV 23 18" RCP, CLASS IV 24 AGGREGATE BASE, CLASS 2 25 ASPHALT CONCRETE, TYPE "B" 	L.F.	4	\$142.00	\$568.00	\$1,900.00	\$7,600.00	\$176.00	\$704.00
	L.F.	421	\$67.00	\$28,207.00	\$94.00	\$39,574.00	\$150.00	\$63,150.00
	L.F.	86	\$74.00	\$6,364.00	\$136.00	\$11,696.00	\$230.00	\$19,780.00
	C.Y.	180	\$46.00	\$8,280.00	\$30.00	\$5,400.00	\$215.00	\$38,700.00
	TONS	390	\$164.00	\$63,960.00	\$112.00	\$43,680.00	\$161.00	\$62,790.00
 26 TEMPORARY RESURFACING 27 6-FOOT CHAIN LINK FENCE 28 TEMPORARY FENCING 29 3-FOOT CABLE RAILING 30 14-FOOT DOUBLE DRIVE GATE 	TONS	121	\$142.00	\$17,182.00	\$112.00	\$13,552.00	\$130.00	\$15,730.00
	L.F.	740	\$13.50	\$9,990.00	\$23.00	\$17,020.00	\$20.00	\$14,800.00
	L.F.	285	\$8.00	\$2,280.00	\$8.00	\$2,280.00	\$11.00	\$3,135.00
	L.F.	70	\$11.00	\$770.00	\$28.00	\$1,960.00	\$30.00	\$2,100.00
	EACH	1	\$650.00	\$650.00	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00

Т

Т

Page 9 of 12

<i>Bid Open Date:</i> 04/15/2010				CASS CONSTRUCTION, INC.		DOTY BROS. EQUIPMENT COMPANY		TUKOVICH & VIDMAR, INC.
em No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	A JV _{Total} Bid
31 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$1.55	\$18,193.90	\$1.50	\$17,607.00	\$1.45	\$17,020.10
32 OBJECT MARKERS	EACH	24	\$65.00	\$1,560.00	\$76.00	\$1,824.00	\$125.00	\$3,000.00
33 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$35.00	\$18,690.00	\$59.00	\$31,506.00	\$50.00	\$26,700.00
34 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$26.00	\$3,562.00	\$59.00	\$8,083.00	\$315.00	\$43,155.00
35 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$18.00	\$3,204.00	\$4.00	\$712.00	\$70.00	\$12,460.00
36 DUST ABATEMENT	L.S.	1	\$11,500.00	\$11,500.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00
37 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$21,000.00	\$21,000.00	\$3,500.00	\$3,500.00	\$18,000.00	\$18,000.00
38 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$7,000.00	\$7,000.00	\$40,000.00	\$40,000.00	\$5,000.00	\$5,000.00
39 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$100.00	\$6,200.00	\$97.00	\$6,014.00	\$162.00	\$10,044.00

\$2,275,774.15

\$2,355,401.00

\$2,438,093.10

Page 10 of 12

Project Number: 4-0-0163-01 *Bid Open Date:* 04/15/2010

Bid Open Date: 04/15/2010			SANDOVAL EN		T.B. U	., INC.		LUMBING AND ERING, INC.
 Item No. & Description 1 MOBILIZATION 2 WATER CONTROL 3 TRAFFIC CONTROL 4 CLEARING AND MISCELLANEOUS WORK 5 EXCAVATION 	<i>Unit</i> L.S. L.S. L.S. L.S. C.Y.	Quantity 1 1 1 1 1 19,387	Unit Bid \$80,000.00 \$20,000.00 \$10,000.00 \$20,000.00 \$33.00	<i>Total Bid</i> \$80,000.00 \$20,000.00 \$10,000.00 \$20,000.00 \$639,771.00	<i>Unit Bid</i> \$75,000.00 \$25,000.00 \$10,000.00 \$25,000.00 \$26.00	<i>Total Bid</i> \$75,000.00 \$25,000.00 \$10,000.00 \$25,000.00 \$504,062.00	Unit Bid \$286,000.00 \$10,000.00 \$10,000.00 \$35,000.00 \$8.00	<i>Total Bid</i> \$286,000.00 \$10,000.00 \$10,000.00 \$35,000.00 \$155,096.00
 6 ROCK EXCAVATION 7 ASPHALT CONCRETE EXCAVATION 8 BACKFILL 9 CONTROLLED LOW STRENGTH MATERIAL (CLSM) 10 FILTER MATERIAL 	C.Y. S.F. C.Y. C.Y. C.Y.	700 780 8,057 3,586 500	\$372.00 \$6.00 \$20.00 \$50.00 \$8.00	\$260,400.00 \$4,680.00 \$161,140.00 \$179,300.00 \$4,000.00	\$135.00 \$9.50 \$20.00 \$100.00 \$25.00	\$94,500.00 \$7,410.00 \$161,140.00 \$358,600.00 \$12,500.00	\$510.00 \$25.00 \$13.00 \$55.00 \$40.00	\$357,000.00 \$19,500.00 \$104,741.00 \$197,230.00 \$20,000.00
 11 TRENCH SAFETY SYSTEM 12 CLASS "A" CONCRETE 13 CLASS "B" CONCRETE, MISCELLANEOUS 14 MANHOLE NO. 2 15 MANHOLE NO. 4 	L.S.	1	\$40,000.00	\$40,000.00	\$68,500.00	\$68,500.00	\$150,000.00	\$150,000.00
	C.Y.	66	\$1,000.00	\$66,000.00	\$350.00	\$23,100.00	\$950.00	\$62,700.00
	C.Y.	8	\$1,300.00	\$10,400.00	\$250.00	\$2,000.00	\$900.00	\$7,200.00
	EACH	8	\$5,800.00	\$46,400.00	\$10,000.00	\$80,000.00	\$6,000.00	\$48,000.00
	EACH	2	\$8,000.00	\$16,000.00	\$12,000.00	\$24,000.00	\$7,500.00	\$15,000.00
 78" RCP, 1500D, WITH EXTRA COVER 78" RCP, 1500D 72" RCP, 1500D 66" RCP, 1500D 48" RCP, 1500D 	L.F.	504	\$216.00	\$108,864.00	\$450.00	\$226,800.00	\$458.00	\$230,832.00
	L.F.	2,088	\$215.00	\$448,920.00	\$385.00	\$803,880.00	\$458.00	\$956,304.00
	L.F.	872	\$170.00	\$148,240.00	\$325.00	\$283,400.00	\$420.00	\$366,240.00
	L.F.	323	\$144.00	\$46,512.00	\$250.00	\$80,750.00	\$395.00	\$127,585.00
	L.F.	24	\$80.00	\$1,920.00	\$125.00	\$3,000.00	\$440.00	\$10,560.00
 21 36" RCP, 1500D 22 24" RCP, CLASS IV 23 18" RCP, CLASS IV 24 AGGREGATE BASE, CLASS 2 25 ASPHALT CONCRETE, TYPE "B" 	L.F.	4	\$75.00	\$300.00	\$88.00	\$352.00	\$350.00	\$1,400.00
	L.F.	421	\$68.00	\$28,628.00	\$66.00	\$27,786.00	\$275.00	\$115,775.00
	L.F.	86	\$60.00	\$5,160.00	\$64.00	\$5,504.00	\$275.00	\$23,650.00
	C.Y.	180	\$80.00	\$14,400.00	\$22.00	\$3,960.00	\$65.00	\$11,700.00
	TONS	390	\$180.00	\$70,200.00	\$145.00	\$56,550.00	\$165.00	\$64,350.00
 26 TEMPORARY RESURFACING 27 6-FOOT CHAIN LINK FENCE 28 TEMPORARY FENCING 29 3-FOOT CABLE RAILING 30 14-FOOT DOUBLE DRIVE GATE 	TONS	121	\$180.00	\$21,780.00	\$75.00	\$9,075.00	\$100.00	\$12,100.00
	L.F.	740	\$22.00	\$16,280.00	\$75.00	\$55,500.00	\$65.00	\$48,100.00
	L.F.	285	\$17.00	\$4,845.00	\$30.00	\$8,550.00	\$25.00	\$7,125.00
	L.F.	70	\$49.00	\$3,430.00	\$600.00	\$42,000.00	\$200.00	\$14,000.00
	EACH	1	\$1,600.00	\$1,600.00	\$10,000.00	\$10,000.00	\$4,500.00	\$4,500.00

Т

Т

Т

Page 11 of 12

<i>Bid Open Date:</i> 04/15/2010			SANDOVAL ENC		T.B. U	., INC.	NORSTAR PLUMBING AN ENGINEERING, INC.	
m No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
31 MISCELLANEOUS IRON AND STEEL	LBS.	11,738	\$3.00	\$35,214.00	\$5.00	\$58,690.00	\$2.00	\$23,476.00
32 OBJECT MARKERS	EACH	24	\$200.00	\$4,800.00	\$85.00	\$2,040.00	\$150.00	\$3,600.00
33 ROCK SLOPE PROTECTION 1/4-TON CLASS	C.Y.	534	\$65.00	\$34,710.00	\$125.00	\$66,750.00	\$54.00	\$28,836.00
4 FILTER BLANKET, NO. 2 BACKING	C.Y.	137	\$40.00	\$5,480.00	\$115.00	\$15,755.00	\$54.00	\$7,398.00
35 ROCK SLOPE PROTECTION FABRIC	S.Y.	178	\$20.00	\$3,560.00	\$200.00	\$35,600.00	\$6.00	\$1,068.00
36 DUST ABATEMENT	L.S.	1	\$14,000.00	\$14,000.00	\$45,000.00	\$45,000.00	\$10,000.00	\$10,000.00
7 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$16,000.00	\$16,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00
38 NON-STORMWATER DISCHARGE OR DEWATERING	L.S.	1	\$60,000.00	\$60,000.00	\$125,000.00	\$125,000.00	\$10,000.00	\$10,000.00
39 18-INCH CORRUGATED METAL PIPE 18 GAUGE	L.F.	62	\$70.00	\$4,340.00	\$125.00	\$7,750.00	\$150.00	\$9,300.00

\$2,657,274.00

\$3,479,504.00

\$3,590,366.00